() ~ (12)
A/ ;\2/ ) l} \ r;
. / |
Vs
l\}
o
| B-70 B-75 U )
A
() O
N U
P/N Description
1 2002-142 | Std. Frame (Senior) - Frame only - 3 crossmembers
1 2002-145 | Std. Frame (Junior) - Frame only - no logo crossmember
2 2002-143 | High Capacity Frame with extra crossmembers (Senior) - Frame only, 5 crossmembers
2 2002-144 | High Capacity Frame with extra crossmembers (Junior) - Frame only
3 2002-733 | Stiffener channel (2 required per cart)
4 2002-199 | Crossover tube w/swivel brackets assembly - hardware below not included, must be ordered separately:
(4) p/n 8007-017 5/16-18 x 1-3/4 hex head bolt
(4) p/n 8001-005 5/16-18 nylock nut
5 2002-151 | Crossover tube only
6 2002-208 | Slide/swivel tube (2 required per cart) - hardware below not included, must be ordered separately:
(2) p/n 8001-007 7/16-14 nylock nut
2002-795 | Spacer, swivel brackets (2 required per cart)
2002-794 | Filler/backer plate, swivel brackets (4 required per cart)
2002-140 [ Lock/latch assembly - hardware below not included, must be ordered separately:
(4) p/n 8068-003 1/4-20 x 1-3/4 pan head screw
(4) p/n 8001-004 1/4-20 nylock nut
10 [ 2002-793 | Spacer, lock latch (2 required per cart)
11 | 2002-325 | Handle brackets - Two handle brackets plus hardware - Senior only
12 | 2002-A1 | Al loop handle - Senior only - Handle only, requires attachment kit 2002-325 (#11)
14 | 2002-160 | Std. Senior swing arm with stop plates
15| 2002-162 | Std. Junior swing arm with welded double grip handles
17 | 2002-762 | Std. Senior swing arm only
18 | 2002-213 | Swing arm stop plate (2 required per cart) - hardware below not included, must be ordered separately:
(1) p/n 8068-003 per stop plate, 1/4-20 x 1-3/4 pan head screw
(1) p/n 8069-004 per stop plate, 1/4-20 nylock acorn nut
21 [ 8017-003 | Std. black ergo hand grip
22 [ 2002-125 | Lock bar assembly with brackets - hardware below not included, must be ordered separately:
23 (2) p/n 2002-214 special bolt for lock bar/casters
24 (2) p/n 2002-215 special spacer for lock bar/casters
26 (2) p/n 8055-006 3/8-16 nylock jam nut
25 | 8021-002 | Swivel stem caster 5” x 1-1/4”
8021-003 | Swivel stem caster 5” x 1-1/4” with toggle brake
8021-004 | Swivel stem caster 5” x 2" square tread
8021-005 | Swivel stem caster 5” x 2” square tread, with toggle brake
2450-Y1 | E21 Toggle brake
2002-A13 | A13 loop handle w/vinyl sleeve for Senior only - Handle only - Requires attachment kit 2002-325
2002-B70 | Complete Junior frame assembly with double grip swing arm
2002-B75 | Complete Junior frame assembly, double grip swing arm, 2 crossbars, no logo crossmember
2002-B80 | Complete Senior frame assembly, standard
2002-B81 | Complete Senior frame assembly, high capacity
2002-B88F | Complete Senior frame assembly, 5 crossmembers and center strap

1



